



Use regrouping to solve. Make sure your answer is not an improper fraction.

1) $8\frac{3}{9} - 1\frac{6}{9} =$

2) $7\frac{2}{4} - 2\frac{3}{4} =$

3) $4\frac{1}{7} - 3\frac{3}{7} =$

4) $9\frac{3}{7} - 6\frac{4}{7} =$

5) $7\frac{3}{7} - 4\frac{6}{7} =$

6) $2\frac{1}{4} - 1\frac{3}{4} =$

7) $4\frac{2}{4} - 3\frac{3}{4} =$

8) $10\frac{1}{6} - 5\frac{2}{6} =$

9) $7\frac{2}{5} - 3\frac{3}{5} =$

10) $7\frac{1}{5} - 2\frac{2}{5} =$

11) $4\frac{1}{8} - 1\frac{2}{8} =$

12) $7\frac{4}{8} - 5\frac{5}{8} =$

13) $2\frac{1}{7} - 1\frac{2}{7} =$

14) $7\frac{1}{4} - 1\frac{3}{4} =$

Answers

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____



Use regrouping to solve. Make sure your answer is not an improper fraction.

1) $8\frac{3}{9} - 1\frac{6}{9} =$

$7\frac{12}{9} - 1\frac{6}{9} = 6\frac{6}{9}$

2) $7\frac{2}{4} - 2\frac{3}{4} =$

$6\frac{6}{4} - 2\frac{3}{4} = 4\frac{3}{4}$

3) $4\frac{1}{7} - 3\frac{3}{7} =$

$3\frac{8}{7} - 3\frac{3}{7} = \frac{5}{7}$

4) $9\frac{3}{7} - 6\frac{4}{7} =$

$8\frac{10}{7} - 6\frac{4}{7} = 2\frac{6}{7}$

5) $7\frac{3}{7} - 4\frac{6}{7} =$

$6\frac{10}{7} - 4\frac{6}{7} = 2\frac{4}{7}$

6) $2\frac{1}{4} - 1\frac{3}{4} =$

$1\frac{5}{4} - 1\frac{3}{4} = \frac{2}{4}$

7) $4\frac{2}{4} - 3\frac{3}{4} =$

$3\frac{6}{4} - 3\frac{3}{4} = \frac{3}{4}$

8) $10\frac{1}{6} - 5\frac{2}{6} =$

$9\frac{7}{6} - 5\frac{2}{6} = 4\frac{5}{6}$

9) $7\frac{2}{5} - 3\frac{3}{5} =$

$6\frac{7}{5} - 3\frac{3}{5} = 3\frac{4}{5}$

10) $7\frac{1}{5} - 2\frac{2}{5} =$

$6\frac{6}{5} - 2\frac{2}{5} = 4\frac{4}{5}$

11) $4\frac{1}{8} - 1\frac{2}{8} =$

$3\frac{9}{8} - 1\frac{2}{8} = 2\frac{7}{8}$

12) $7\frac{4}{8} - 5\frac{5}{8} =$

$6\frac{12}{8} - 5\frac{5}{8} = 1\frac{7}{8}$

13) $2\frac{1}{7} - 1\frac{2}{7} =$

$1\frac{8}{7} - 1\frac{2}{7} = \frac{6}{7}$

14) $7\frac{1}{4} - 1\frac{3}{4} =$

$6\frac{5}{4} - 1\frac{3}{4} = 5\frac{2}{4}$

Answers

1. $6\frac{6}{9}$

2. $4\frac{3}{4}$

3. $\frac{5}{7}$

4. $2\frac{6}{7}$

5. $2\frac{4}{7}$

6. $\frac{2}{4}$

7. $\frac{3}{4}$

8. $4\frac{5}{6}$

9. $3\frac{4}{5}$

10. $4\frac{4}{5}$

11. $2\frac{7}{8}$

12. $1\frac{7}{8}$

13. $\frac{6}{7}$

14. $5\frac{2}{4}$



Use regrouping to solve. Make sure your answer is not an improper fraction.

$4\frac{4}{5}$

$3\frac{4}{5}$

$4\frac{3}{4}$

$4\frac{5}{6}$

$2\frac{6}{7}$

$1\frac{7}{8}$

$5\frac{5}{7}$

$3\frac{3}{4}$

$2\frac{4}{7}$

$2\frac{2}{4}$

$2\frac{7}{8}$

$6\frac{6}{9}$

1) $8\frac{3}{9} - 1\frac{6}{9} =$

2) $7\frac{2}{4} - 2\frac{3}{4} =$

3) $4\frac{1}{7} - 3\frac{3}{7} =$

4) $9\frac{3}{7} - 6\frac{4}{7} =$

5) $7\frac{3}{7} - 4\frac{6}{7} =$

6) $2\frac{1}{4} - 1\frac{3}{4} =$

7) $4\frac{2}{4} - 3\frac{3}{4} =$

8) $10\frac{1}{6} - 5\frac{2}{6} =$

9) $7\frac{2}{5} - 3\frac{3}{5} =$

10) $7\frac{1}{5} - 2\frac{2}{5} =$

11) $4\frac{1}{8} - 1\frac{2}{8} =$

12) $7\frac{4}{8} - 5\frac{5}{8} =$

Answers

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____